
ρdev = − 0.85

p = 0.016

ρageing = − 0.18

p = 0.67

ρdev = − 0.88

p = 0.008

ρageing = 0.16

p = 0.713

ρdev = − 0.9

p = 0.006

ρageing = 0.42

p = 0.26

ρdev = − 0.9

p = 0.006

ρageing = − 0.3

p = 0.471

ρdev = − 0.61

p = 0.144

ρageing = 0.22

p = 0.572

ρdev = − 0.85

p = 0.016

ρageing = 0.69

p = 0.04

LUNG−LIVER LUNG−MUSCLE

CORTEX−MUSCLE LIVER−MUSCLE

CORTEX−LIVER CORTEX−LUNG

8 64 512 8 64 512

8 64 512 8 64 512

8 64 512 8 64 512

0.52

0.56

0.60

0.650

0.675

0.700

0.725

0.68

0.72

0.76

0.80

0.84

0.44

0.46

0.48

0.50

0.55

0.60

0.65

0.64

0.66

0.68

0.70

0.72

0.74
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